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1) TYTdTE B YR H {6y e &I el Agayul AT 1 87
Which component is considered more important in the concept of possibility?
a. AFdIY ¥¢d (Human Component)
b. WW (Natural Ingredients)
C. W@WW AL (Both human and natural components)
d. sﬁlﬁﬁaﬁéﬁ (None of these)
2) AT TR P S5 fhat gl 82

What is the population of Mega City?

a. 10 @G (1 million) b. 50 @G ¥ 3{fYH(More than 5 million)
¢. 1HUS (10 million) d. 1 @ (0.1 million)
3) fay & Taifere SHUE Higd g

Largest population concentration in the world.
a) qdag REIR:] (In mountain area) b) ﬁ_cx"l:ﬁff (In plain)
c) TSR H (In plateau) d) Aod A (In desert)
4) HRAIG ST0MT Sfegr & forg 9 &) Ac fearse &1 I &l s 2
In the Indian census history, which year has been termed as the Great Divide?

a) 1911 b)1981




c) 1951 d)1921
5) HH4 fITe &1 srayron FafiRed # 9§ ford fagH a1 & &7
The concept of human development is the gift of which of the following scholars?
a. . 3\ a9 (Pro. Amartya Sen) b. Sf. Hedd 3¢ &P (Dr. Mahbub Ul Haq)
C. Q?’F[Fﬁ. I (Alan C. Sample) d. Yeud (Ratzel)
6) T O I fru oY ypR &1 fasra Rt siuf~afRie g grt fean e

Which of the following types of agriculture was developed by the European colonial group?

a. ®IA@eS (Kolkhoj) b. gI@IGA (floriculture)
c. frfga ?ﬁl (mixed farming) d gt ?ﬁl (Planting Cultivation)

7) giicheeR fhad IdTed I Tafdd g2

Horticulture is related to the production of?
a. T’g_d@( (Production of Flowers) b. ANES) (Production of pulse)
c. 3T (Production of Grains) d. Bd 3R Feoll
8) F9 & ¥ i a1 I Yy TE B2
Which of the following is not a planation agriculture?
a. BBl Coffee b. AT sugarcane
C. ﬁ_§' wheat d. XIS rubber

9) U H T BHIH-3 1o 3rfuaRit § IATG BT W AR BIdT 82

In which of the following economies, production is owned by individuals?

a. qysﬂaﬁr (capitalist) b. fHfera (mixed)

c. JHISIATE (socialism) d. s——ﬁr@faﬂs‘qﬁr (None of these)
10) SITU &1 STrIC fahd gl STl 62

Which city is known as the Detroit of Japan?

a. S (Tokyo) b. T (Nagoya)

c. NI (Nagasaki) d. 3TTeRT (Osaka)
11) 78 3Tefies i 1 aIvor e &1 1782

When was the new industrial policy announced?
a. 1990 b.1991

c.1992 d.1993



12) U fasfRid srdogayr , SIFRRe &1 98T ST e W 1R &var g2

In a developed economy, larger proportion of population depends on?

a. Uyfe® aﬁ ( Primary sector) b. W éﬂﬁ (Secondary sector)
C. Q'Fﬂw & (Tertiary sector) d. ag% RE] (Quaternary sector)
13) BT TR Pol U &7
Where is the Kiel Canal located?
a. ﬁd%:[(Britain) b. Glff:ﬂ(Germany)
c. sfcoras (Belgium) d. ¥Y(Russia)
14) O fohg UhR 1 ST 87

What type of resource is water?

a) SAIHRUY b) ThIT TATEA
c)a'q’w?ﬁ d)aGﬁTb?ﬂzﬁ
15) 3% P | fora-t AT ot STawae® g2

How much annual rainfall is required in wetland agriculture?
a) 25 ACHICR Y BH (Less than 25 cm)  b) 25 F 50 IR (25 to 50 cm)
c) 75 TR T 3ifd® (More than 75 cm) d) ﬁﬁ@[ﬁéﬁ (Non of these)
16) SfHALR WA A & FT YT 82

Where is Ankleshwar Mineral Oil Field located?

a) ISRId (Gujarat)  b) HERIY(Maharashtra)

¢) 39T (Assam)  d) AfHTHTG (Tamil Nadu)
17) T3y &1 Ta o0d THg! AN I AT 8?2

Which is the busiest sea route of the world?

a. 3T Sfedifed(North Atlantic) b. URITd BN R((Pacific Ocean)
c. i< IR (Indian Ocean) d. af&r seqifes (South Atlantic)
18) WTO &1 &g Hal &7
Where is the headquarters of WTO?
a. SiHar (Geneva) b. STl (Jakarta)
c. foar (Vienna) d. Aredifsar (Montevideo)

19) DI U BT HARUT8?



Where is Kochi Port located?

a. prlch | (In Karnataka) b. 3nfeemH (In Odissa)

cHAH (In Kerla) d?‘lﬁf?l:l'@ﬁ (In Tamilnadu)
20) fr e daauila AT & THTSArG! JHS S RITAHT ST Uiied U a1 T

In which five-year plan was the model of the establishment of a socialist society presented?
a) UYH (first) b) fgda (second)
¢) qad (third) d) T (fourth)
21) Fgfafad & § & 91 Y-Iuah ot 78 87
Which of the following is not a land use category?
a) tRT‘ﬁ%[&l (Fallow land) b) Q:ﬂtﬂ?[‘ﬂﬁ(Marginal land)
) g arar T éﬂﬁ(Net sown area) d) ?ﬁl arg g ﬂ;[&[ (Arable waste land)
22) TSt TETET T TREUT T ST B2
Why is it important to conserve water resources?
a) ST U ¥ &9 & fe1E (To avoid water unavailability)
b) R aa‘cﬁ AT & ﬁm (For ever-increasing demand)
SEJIIBED G-ﬁTﬂ‘s_glﬁlﬁ ST & HRUT (Due to spatial and seasonal disparity)
d) 375 F 4T (All of these)
23) BOIRI-fASRqR-STERTGR 7 UrguensH 5y o0 § g1 6] ToRd 87
The Hazira-Vijaipur-Jagdishpur gas pipeline does not pass through which state?
a. HeRT¥ (Maharashtra) b. TSRId (Gujarat)
c. AT U (Madhya Pradesh) d. SR U™ (Uttar Pradesh)
24) forg ofiefiies Hfifa & IgRiwRur FsiioRur 3R dsfie=ur &1 Sgrar faan mar
In which industrial policy liberalization, privatization and globalization were promoted?
a. 1991 b. 1952
c. 1948 d. 1989
25) g fiffie T My & qad B g2
Who is the author of the book 'The Limit to Growth'?
a. QETI%FJ (Ehrlich) b. HIS (Meadows)
C. IIB'I?HTTIT%?[ (Mahatma Gandhi) d. e Yeod (Friedrich Ratzel)
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qTfdiep Tlef 2022-23)
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Wﬁlﬂ'?T(General Instruction)

> adreTelT JUTEHS 379eT et H 3|

Examinee write answer in their own words as far as practicable.
> Fol gl I HEAT 23 7

The total number of questions is 23

> G HEAT 1 QA HEAT 9 eh 3Tl o TG YA 8| SoTe A fohergl AT 9 & 3 31fehcdd 50
ersel # QAT | ek WaT &7 AT 1 37 AeTRa &1

Question 1 to Question 9 are very short answer type questions, Answer any seven of these questions
in one sentence. Each question carries 1 mark.

> OIReT AT 10 F TR HEAT 17 oToh o SRIT TR ¢ | $oTH & fehogl 6 el o 3eX 3HTRIehcl# 150 Qreal 7
QST I3 TR ST AT 3 37k [AeTRA B

Question 10 to Question 17 are short answer type questions. Answer any six of these questions in at
most 50 words. Each question carries 3 marks.

> U T 18 A YT TEAT 23 o T8 3TT A & | 378 & fohogy 4 W2t 3 39T 31T ® 250 ersal &
AT YRS 9T &7 5 37 AR &

Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in
at most 100 words. Each question carries 5 marks.




3 &g 38T gt

1. T4 7T &I aRUTRd B |
Define Human Geography.
2. A4 faer & 9 g smam B9 3 72

What are the three basic dimensions of human development?

3. oAy US[ERY § 39 T JHA 82
What do you understand by nomadic pastoralism?
4. T & MYR TR I BT GFHHU] DI |

Classify industries on the basis of ownership.

5. ot fohaTeary ¥ 3T F1 THIId &2

What do you understand by tertiary activity?
6. T49T TgX b1 &l IFRI &1 Sl 52

Which two seas are connected by the Suez Canal?
7. STEE i ) aRIRE B

Define population growth?

8. th e R g-dI el dI(LIJ%?
What do you mean by crop intensity?

9. YRd & gl d¢ R R {8l IR ueHi & = ford|

Name any four ports on the east coast of India.

agrm‘ﬁ‘zrl;ra;r

10. Y919 & Ufdpy 3R 30wy RS H R WY HifeT|

Differentiate between the repulsion and the pull factor of migration.

11. 3 UNRIDt ST BT o B

Describe the high technology industry.

12. HRd & UISUATS- URdg & Ui a1y 9dTd |

Mention five advantages of pipeline transportation in India.



13, STRTPTT IR BT SHTaRADHT FI 87
Why is International Trade Needed?
14, HRA & S5 faaR0r gfeed &1 9ol &38|

Describe the population distribution pattern of India.

15. YRd $I Teait 3R URFE arefor sikerl & SiaR Wy Sifon |
Differentiate between parish and dispersed rural settlements in India.
16. YATUTT 3ol fhd B8 &7 SUHT 1 7 82

What is geothermal energy? What is the significance of this?

17. HRA H YS& a1 ¥ URAE Th-giR & RSP & WY Y|
Explain that road and rail transport in India are complementary to each other.

ABELIR RG]
18. I & RITITHRUT B YHITAT B T HIH-DIH F DRB 87

What are the factors affecting the localisation of industries?

19. 3T IeRIHRuT, fAsiieur auT 3efie o ¥ o A 87 3514 HRd & Siienfie faer # fg
TJHR J AT fear 82

What do you understand by liberalisation, privatisation and globalisation? How have they
contributed to the industrial development of India?

20. Y- & HH B & IUTT YIS

Suggest measures to reduce land degradation.

21. a1 Yaex 4 G & HEd Bl W FIFTT quT Thc &l THIAd B aTd BRI Bt RS
DI

Explain the importance of tourism in the service sector and explain the factors affecting
tourism.

22. YRd H URTE & THE e HH-BH I 82 3% [AHN Bl UIfdd & a1 HRe! Db
[EEEEIKCaY

What are the main modes of transport in India? Discuss the factors influencing their
development.

23. fliu T fay & fog R Fgiferd STel @1 fafed #1 |

Mark the following places on the given world diagram.

a. ol 7TER (Suez Canal)
b. ST (Sri Lanka)



C. :{xﬁﬁvg (New Zealand)

d. SIS &1 WISt (Bay of Bengal)
e. MU (Greenland)




